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Thanksgiving Addition

Solve the following word problems.

For Thanksgiving, the Williams family used 1.35
gallons of milk for making desserts and 2.45
gallons for other dishes. How many gallons of milk
did they use in total?

John bought 3.34 pounds of potatoes and 2.45
pounds of carrots for the Thanksgiving dinner. How
many pounds of vegetables did he buy in total?

For the Thanksgiving dessert, Emily used 1.50 cups
of sugar for the pie and 2.25 cups for the cake.
How many cups of sugar did she use in total?

At the Thanksgiving sale, a turkey costs 12.53
dollars and a pumpkin costs 3.75 dollars. How much
do they cost in total?

The Thanksgiving festivities included a sack race
where John covered a distance of 8.23 feet, and
Emma covered 5.76 feet. What was the total
distance covered by both participants?

The Johnson family used 2.64 yards of tablecloth
for the main table and 1.57 yards for the side table.
What is the total length of tablecloth used?

Sarah bought 4.27 pounds of carrots and 3.15
pounds of green beans for the Thanksgiving
casserole. What was the total weight of the
vegetables?
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